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QUESTION 1

Which node should be used if the user wanted to see the number of cases in each category for a variable of Categorical
Measurement level? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 2

Which is the standard node for displaying the relationship between two continuous variables? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 3

Which of the following types of nodes will have data flowing both in and out, when used in a stream? 

A. Record Ops 

B. Graphs 

C. Export 

D. Sources 
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Correct Answer: A 

 

QUESTION 4

How many phases are in the CRISP-DM Process Methodology? 

A. Four 

B. Five 

C. Six 

D. Seven 

Correct Answer: C 

 

QUESTION 5

Which node can be used to impute (estimate) missing values? 

A. Data Audit node 

B. Balance node 

C. Filler node 

D. Reclassify node 

Correct Answer: A 
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